
What’s in the box?

How to install for flush mounting

INSTALLATION GUIDE

SAILOR 6004 Control Panel

Connections

U-Mounting Bracket Flush Mount Bracket
(2 pcs.)

Wheel Knob
(2 pcs.)

Screw M4x65
TORX 20
(5 pcs.)

How to install on the desktop

Dimensions

Screw M4x12
TORX 20
(5 pcs.)

Screw ø3.9x19
TORX 20
(5 pcs.)

SAILLOR 6004 Control Panel

What’s in the box?

How to install the Control Panel flush mounting

INSTALLATION GUIDE

SAILOR 6004 Control Panel

Connections

U-Mounting Bracket Flush Mout Bracket
(2 pcs.)

Wheel Knob
(2 pcs.)

Screw M4x65
TORX 20
(5 pcs.)

How to install the Control Panel on the desktop

Dimensions for the SAILOR 6282 AIS Transponder

Screw M4x12
TORX 20
(5 pcs.)

Screw ø3.9x19
TORX 20
(5 pcs.)

SAILLOR 6004 Control Panel

What’s in the box?

How to install the Control Panel fl ush mounting

INSTALLATION GUIDE

SAILOR 6004 Control Panel

Connections

U-Mounting Bracket Flush Mout Bracket(2 pcs.)Wheel Knob(2 pcs.)

Screw M4x65TORX 20(5 pcs.)

How to install the Control Panel on the desktop

Dimensions for the SAILOR 6282 AIS Transponder

Screw M4x12TORX 20(5 pcs.)

Screw ø3.9x19TORX 20(5 pcs.)

SAILLOR 6004 Control Panel

SAILOR 6282 AIS TransponderUSER MANUAL

Installation GuideSAILOR 6004 Control Panel

Installation ManualSAILOR 6004 Control Panel

162
mm

145
mm

191 mm
196 mm

223 mm

Space for
cable entry

60.5 mm

95 mm

32 mm

80 mm

Cutout for fl ush mounting

Drilling plan on desktop and overhead

99-130249

4 x M4 or hole for
self-tapping ø3.9

150mm

53m
m

71m
m

196mm

23mm

9mm

Power Cable,1 m Screw M3x8Countersink(4 pcs.)

Cable Relief Plate

Flush mounting gasket

177.2mm

147mm

90.
5mm

37m
m

Remove material from shaded area only!

M4x12 TORX 20 (4 pcs.) orø3.9x19 TORX 20 (4 pcs.)

ACCAUX TEST PWR

Speaker alarm

Handset  or
Speaker  Microphone

USB Primary LAN
RJ45

Secondary LAN
RJ45

Speaker alarm

Power and Remote on 
12-24V DC

Screw M4x65 Torx 20 (4 pcs.)

Flush Mount Bracket (2 pcs.)

Flush Mount Gasket

20Max wall thickness mm

Cable Relief Plate

Screw M3x8 Countersink (3 pcs.)

SAILOR 6004 Control Panel

INSTALLATION MANUAL

Installation Guide
SAILOR 6004 Control Panel

Installation Manual
SAILOR 6004 Control Panel

16
2
mm

14
5
mm

191 mm
196 mm

223 mm

Space for
cable entry

60.5 mm

95 mm

32 mm

80 mm

Cutout for flush mounting

Drilling plan on desktop and overhead

99-130249

4 x M4 or hole for
self-tapping ø3.9

150mm

53
m
m

71
m
m

196mm

23mm

9m
m

Power Cable,
1 m

Screw M3x8
Countersink

(4 pcs.)

Cable Relief Plate

Flush mounting gasket

177.2mm

147mm

90
.5
m
m

37
m
m

Remove material from shaded area only!

M4x12 TORX 20 (4 pcs.) or
ø3.9x19 TORX 20 (4 pcs.)

ACC
AUX

TEST
PWR

Speaker alarm

Handset  or
Speaker  Microphone

USB Primary LAN
RJ45

Secondary LAN
RJ45

Speaker alarm

Power and Remote on 
12-24V DC

Screw M4x65 Torx 20 (4 pcs.)

Flush Mount Bracket (2 pcs.)

Flush Mount Gasket

20Max wall thickness mm

Cable Relief Plate

Screw M3x8 Countersink (3 pcs.)

SAILOR 6004 Control Panel

INSTALLATION MANUAL

Installation Guide

Installation Manual

16
2
mm

14
5
mm

191 mm
196 mm

223 mm

Space for
cable entry

60.5 mm

95 mm

32 mm

80 mm

Cutout for flush mounting

Drilling plan on desktop

99-130249

4 x M4 or hole for
self-tapping ø3.9

150mm
53

m
m

71
m
m

196mm

23mm
9m

m

Power Cable,
2.5 m

Screw M3x8
Countersink

(4 pcs.)

Cable Relief Plate

Flush Mounting Gasket

177.5mm

147mm

90
.5
m
m

37
m
m

Remove material from shaded area only!

M4x12 TORX 20 (4 pcs.) or
ø3.9x19 TORX 20 (4 pcs.)

ACC
AUX

TEST
PWR

Auxiliary,
Speaker and Alarm

Accessories,
Handset  or
Speaker  Microphone

USB Primary LAN
RJ45

Secondary LAN
RJ45

Ground Stud

Power and Remote on 
12-24V DC

Screw M4x65 Torx 20 (4 pcs.)

Flush Mount Bracket (2 pcs.)

Flush Mount Gasket

20Max Wall Thickness mm

Cable Relief Plate

Screw M3x8 Countersink (3 pcs.)

For cutout you may use the drawing scaled 1:1 on the back page.



info@thrane.com  •  thrane.com

	 98-136942-A

Cutout for flush mounting - Scale 1:1

For further information, please download the
installation manual from http://esupport.thrane.com

177.5mm

147mm

90
.5
m
m

37
m
m

Remove material from shaded area only!

IMPORTANT!
If this template was printed from an electronic 
file or copied, scaling (1:1) may not be correct. 
Consequently do not attempt to use a printed 
or copied template without prior checking of 
dimensions.

ACC
AUX

TEST
PWR

VHF/GPS GPS 12-24V DC FUSE SUB-D50

1

12 - 24VDC

SAILOR 6004 Control Panel

SAILOR 6282 AIS Transponder

GPS Antenna - Active
SAILOR 6285

Description Pin Wire color Pin assignments
Front view12-24V DC+ 1 Red

12-24V DC- 2 Black

Remote on_in
(Can be connected through 
a switch to ground)

3 White

On_out
(Can be connected to 
compatible equipment with 
remote on_in)

4 Blue

Outer shield must be con-
nected to ground

Shield

Power Cable - ConnectionsSystem Configuration - Example


